a(0 @) (raqd)

2 [ . [
T r + T r :
14 [ 24 [ :
| R L R | R R E SRR L
0.95L - . . 0.95L - '2 .
10° 1 10 0 -1 10° 1 10 0 -1
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_V0001_R000000001__Global__mkFit10000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000ATime_ RECO
= = N N
= € : :
5] (5] . .
2 e : :
> > [ I I
o] T *
o .
= <1 11t :
) Lol QAT e

8 L 2 [
I r : I r
o [ : o [
| + S RRRRREEEEEEEEEE | R
0%50-‘1 1 10 (:)2 3 0%50-‘1
TPp, (PCA t]b beamliné‘?
n=
2
D_)—
=)
<]
107"
o100l bbbl il
@ r :
o [ .
oo D ARCERERLREED
05— i : 52 .
10 1 TPl[:g)T (PCA t%)obeamlin%)o

=
<

=
<

a(d cot(d))

1072

10

100% g

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


